$$\int_{15}^{10} (1 - \sin^{2}\theta) + 2\sin^{2}\theta + 14 = 0 \quad \text{over} [0^{\circ}, 360^{\circ}]$$

$$\int_{15}^{10} (1 - \sin^{2}\theta) + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [0^{\circ}, 360^{\circ}]$$

$$\int_{15}^{10} (1 - \sin^{2}\theta) + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 2\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta + 15\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta - 15\sin^{2}\theta - 14 = 0 \quad \text{over} [15 - 15\sin^{2}\theta - 15\sin^{2}\theta - 15\sin^{2$$

$$1 - \sin^{2}x = 3\cos x - 2 \quad \text{over } [0, 2\pi)$$

$$\cos^{2}x = 3\cos x - 2 \quad 0 \le x \le 2\pi$$

$$\cos^{2}x - 3\cos x + 2 = 0$$

$$(\cos x - 2)(\cos x - 1) = 0$$

$$\cos x = 1$$

$$x = 0$$

Solve for x exactly.

$$\frac{\sin(2x) + \cos x = 0}{2} \quad no + 4$$

$$a \sin x \cos x + \cos x = 0$$

$$\cos x = 6 \quad \sin x = -1$$

$$\frac{\cos x = 6}{x = \frac{\pi}{a}} \quad x = \frac{\pi}{6}$$

Solve for
$$\theta$$
:
 $4\cos(2\theta) + 2 = 0$ general solution
 $4(1 - 2\sin^2\theta) + 2 = 0$
 $4 - 8\sin^2\theta + 2 = 0$
 $\sqrt{5in^2\theta} = \frac{3}{4}$
 $\sin\theta = \pm \frac{3}{2}$
 $\theta = \frac{\pi}{3} + 2\pi k$
 $\theta = 2\pi + 2\pi k$
 $\theta = 2\pi + 2\pi k$
 $\theta = 4\pi + 2\pi k$
 $\theta = 4\pi + 2\pi k$
 $\theta = 4\pi + 2\pi k$
 $\theta = 5\pi + 2\pi k$